
X-sect = 8.790E-01(pb)   AVG = 1.010E+00   RMS = 0.000E+00
Tot # Evts =   49715  Entries =   49715  Undersc =     0  Over



X-sect = 8.790E-01(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   49715  Entries =   49715  Undersc =     0  Over



X-sect = 8.790E-01(pb)   AVG = 1.000E+00   RMS = 0.000E+00
Tot # Evts =   49715  Entries =   49715  Undersc =     0  Over



X-sect = 8.790E-01(pb)   AVG = 1.346E+02   RMS = 5.875E+01
Tot # Evts =   49715  Entries =   49546  Undersc =     0  Over



X-sect = 8.790E-01(pb)   AVG = 5.102E+01   RMS = 3.294E+01
Tot # Evts =   49715  Entries =   49477  Undersc =     0  Over



X-sect = 8.790E-01(pb)   AVG = 4.187E+01   RMS = 2.630E+01
Tot # Evts =   49715  Entries =   49691  Undersc =     0  Over



X-sect = 8.790E-01(pb)   AVG = 4.173E+01   RMS = 2.625E+01
Tot # Evts =   49715  Entries =   49698  Undersc =     0  Over



X-sect = 8.790E-01(pb)   AVG =-8.766E-03   RMS = 2.129E+00
Tot # Evts =   49715  Entries =   49348  Undersc =   177  Over



X-sect = 8.790E-01(pb)   AVG =-9.641E-03   RMS = 1.999E+00
Tot # Evts =   49715  Entries =   49551  Undersc =    79  Over



X-sect = 8.790E-01(pb)   AVG = 9.534E+01   RMS = 6.141E+01
Tot # Evts =   49715  Entries =   47524  Undersc =     0  Over


